
Beetle Bailey • Mort Walker

Zits • Jim Borgman & Jerry Scott

Crossword

Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Blondie • Chic Young
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Bridge

   How to Deal With a Damsel
 The simplest hands are some times the

hardest ones to play correctly. Witness this
deal where South was in four hearts and
West led the queen of spades.

South won with the ace and led a trump
to West’s ace. West re turned the jack of
spades, and East ruffed dummy’s king and
returned a club. South finessed and lost the
queen to the king, and West cashed the ten
of spades to put the contract down one.

Unlucky, you could say, but the unadul-
terated truth is that declarer botched the
play. Before playing to the first trick, South
should have considered what might happen
if West had six spades for his one-spade
overcall.

He might then have seen the wisdom of
taking the opening trick with dummy’s king
in order to prevent East from ruffing it later.

After winning with the king, he would
next lead the king of hearts from dummy.

West would take his ace and lead the jack
of spades, but East would find himself in a
helpless position.

If he ruffed the spade, South would fol-
low low from his hand, and his only other
loser would be a club, thus making four
hearts.

 The hand illustrates, for the umpteenth
time, why a declarer should not play
quickly at trick one.

That is the time when he should collect
his thoughts, being careful to give consid-
eration to the bidding by the opponents as
well as the significance of the opening lead.

He should then form a general plan of
play and be prepared to alter it should any
unexpected development occur.

   Tomorrow: Bidding quiz.
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Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.

Tod the Dinosaur • Patrick Roberts


